1. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) : .

)ssertion (A) : The Mughal Empire was

originally a Military State.
Reason (R): The vitality of the develgpment
70 of the Central »G_.Q_I_ng_nj_ment System
depended on its military power.
Select the correct answer using the codes
given below.
Codes :
(a) Both (A) and (R) are true and (R) is
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
ot the correct explanation of (A)
\P/Z\) is true, but (R) is false
d) (A) is false, but (R) is true

2. Which of the following Islands is NOT
located in the ggdbbean Sea ?

(a) Grenada (b) Montserrat
(c) Madeira (d) Anguilla P

3. Which of the following Institution /Office

bring out the Wholesale Price I
data in India ¥

(a) The Reserve Bank of India

(b) The Ministry of Commerce and
Industry

(c) The Ministry of Finance

(d) The Ministry of Consumer Affairs,
Food and Public Distribution

4. The National Disaster Mana ement
Division in India is the nodal division
In the Ministry of Home Affairs for
disaster management. Who is the
Ex-officio Chairman of the National
Disaster Management Authority ?

(a) The Prime Minister
-PbJ)T;he Home Minister
(c) The Defence Minister
(d) The Health and Family Welfare Minister

. JUttar Pradesh Government declared in
budget 2021-22 to grovide tablet for
student under which of the following

Yojna ?
_4a¢} Chief Minister Abhyudaya Yojna
(b) Chief Minister Rozgar Yojna
(c) Chief Minister Balseva Yojna
(d) Chief Minister Education Yojna
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2. fefefad d @ HiH-91 4 Hifees g s dafen

TER ? :
(a) TAT=T - (b) HieETE
(c) HEmT (d) Uz

3. I H e He Geehish (WP) 3 317563 Pty

T 8 -1 HEAH /R S FET R ?
(a) Wi fisrd o

(d) T U TRER e

5. I W % T 2021-22 ¥ o Bt &
mﬁaﬁaﬁzﬁﬁhﬁz%ﬁ@ﬁm%ﬁrﬁ ?
(a) TEEA SreE e
(b) et VTR s
(c) WAt STeTeET A
(d) gt fram e

e
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6. Which one of
coco producer countgiré’g ip/IY e maor

(a) Latvia »

\(S)/G,hana
T V}’flhlch of the following Articles of
the Indian Constitution is related to
Lontingency Fund ?
(a) ArtEIE 265 (b] Article 266
}}Artlclc 267 (d) Article 268

(b) Cameroon
(d) Ivory Coast

8 What is the theme of World Youth Skills

Day, 2021 ?
(a) Young People and Skills
(b) Skills Development and

Employment
(c) Young People and Entrepreneurship

Meimagining Youth Skills Post
Pandemic

@At the time of second wave of

COVID-19 Pandemic, which institute

had demonstrated the conversion of
nitrogen generator into oXygen g T r

(a) 1ISc, Bengaluru ¥
(b) 1IT, Bombay
(c) IIT, Madras
(d) 1IT, Kanpur

e following causes is
nfall during winters
t of India ?

Which one of the
responsible for rai
in north-western par

(a) Retreating Monsoon

(b) Cyclonic depression
Western disturbances

(d) South-West Monsoon

ollution is caused by

10.

11, Flyashp

a0l refining

(b) Fertilizer industry
(c) Thermal power plant X

(d) Mining ¥

‘Utt pradesh Swami _Vivekanand

Elljtfh:;ik Paryatan Yatra Yojna 2021’ was
he U.P. Government for

introduced by the nt
which of the following people for religious

travel ?
Elderly
(c) Widows

12.

(b) Women
(d) Labourers

10.

1615

12}
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(a)maﬁﬂﬁrsrﬂﬁww,a‘w@
(b) R A L
(c) T3S ., W
(d) 38378 8., FHEL
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. Which one of the following reflects back
more sunlight as Compm
three ?

(a) Sand Desert
(b) Paddy crop land

and covered with fresh snow
(d) Prairie land

14. In which one of the following cities

country’s first Indian Institute of Skills
was establishe [

(a) Ahmedabad
crRohtak

(b) Mumbai
(d) Kanpur

@ The winner of the women’s single title at
the French Open Tennis Tournament,
2021, Barbora Krejcikova is from which
of the following countries ?

\Lzﬂ/ Czech Republic (b) Serbia
(c) Croatia (d) Spain

Who among the following person said
for the Fundamental Rights “a pledge to

our people and a pact with the civilized |

world” ?

{A Pt. Jawahar Lal Nehru
(b) Dr. Bhim Rao Ambedkar
(c) Dr. Rajendra Prasad

(d) Dr. S. Radha Krishnan

Riboflavin deficiency causes which of the
following diseases ?

(a) Pellagra (b) Scurvy

‘@f Cheilosis

Kf Beri Beri

@ In' which State of India is the Harappan
Civilization site_I\d%édi,situated ?
(a) Gujarat ) Haryana

(c) Rajasthan (d) Uttar Pradesh

17

19. Which of the following is NOT mosquito

borne disease ?
(a) Dengue fever J,b)/ Filariasis

(c) Sleeping sickness (d) Malaria
20. Which of the following State has the
lowest density of population as per the
Census of 201
(a) Himachal Pradesh
Wby Arunachal Pradesh

(c) West Bengal
(d) Mizoram

13.

14.

15.

16.

T

18.

19,

20.
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(a) Yerm (b) &=l
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ESWT HICT h1 TS HIVE!, WRA & frg 12 |
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(@) TSR (b) fwmm
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(a) ST o (b) SRS
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e He® HH Ul 7
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(b) STEUITSIEl S

(c) wfget s

(d) forstie
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21. Botulism is

\a}-Food-borne infection
(b) Food-borne intoxication
(c) Water-borne infection ¥
(d) Water-borne intoxication 50

Which Constitution Amendment Act
reduced the voting age from 21 years to
18 years ?
(a) 66" Amendment
(b) 6274 Amendment

« (e} 615t Amendment
(d) 634 Amendment

22,

With reference to the radioactivity,
which of the following statements is/are
correct ?
J-Radioactivity is a nuclear property.
2. Hydrogen bomb is prepared on the
% principle of nuclear fission.
Select the correct answer using the codes
given below.
Codes :
w2y Only 1
(c) Both 1 and 2

23.

(b) Only 2
(d) Neither 1 nor 2

24. With reference to NTPC unit at Singrauli,
which of the following statement/s 1s/are

correct ? :
It is situated in Northern part of

Chhattisgarh State.
2. 1t is NTPC’s oldest unit.,
Select the correct answer using the codes

given below.
Codes :

‘_/(afr Only 1
(c) Both 1 and 2
Diffusion of light in the atmosphere takes

place due to
(a) Carbon dioxide

“(b” Dust particles
(c) Helium
(d) Water vapours

On the recommendation of which
Commission/ Comimittee, the Inter-state
Council was set up in India ?
(a) Punchhi Commission
(b) Rajmannar Committee
(c) Kothari Committee

d) Sarkaria Comnuasxo?,

(b) Only 2
(d) Neither 1 nor 2

26.

A

217

22.

23.

24.

25.
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26.
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27. Which one of the following pairs is NOT

correctly matched ?
\,m/\/‘ait.amin—A — QOrange

(b) Vitamin-C  — Lemop ¥ :
(c) Vitamin-D - Cod liver oil +
Rice bran

(d) Vitamin-Bg -

28. ‘Statue of Peace’ is situated in which
State of India ?
(a) Madhya Pradesh
(b) Rajasthan
) Gujarat
(d) Himachal Pradesh

29. PM VANI Yojna is related with
(a) Censorship in Print and Digital
Media
(b) Development of Lok Sangeet
(c) Audio-Visual Release of Lok Sabha
4 Availability of Wi-fi in Public places

30. The symbol ‘ECOMARC’ is related to
which of the following ?

(@) Goods of best quality
b}y Safe goods for environment
(c) Exported goods

(d) Imported goods

31. Under the Constitution_of India which
of the following is NOT
Duty ?

& To vote in General Election
(b) To develop the scientific temper ¥
(c) To safeguard public property ¥
(d) To abide by the Constitution and
respect its ideas

32. The Nobel Peace Prize, 2020 was awarded
to which of the following organisations ?
a] World Food Programme
(b) United Nations Development Programme
(c) World Health Organisation
(d) World Bank

33. Which one of the following is@
correctly matched ?
(State)

(Ruler)
(a) Rana Hamir - Mewar
~ Marwar

(b) Rana Chunda
(c)Malik Raja Farooqi - Khandesh
) Malik Sarwar - Malwa

Khwaja Jahan

Fundamental

il

28.

29.

30.

31.

32.

33,
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‘The Clock is Ticking’ is the th
which of the followirflgg days ? SHIcI0Y

(a) International Yoga Day, 202

(b) International Women'’s Day, 2021 *
_leyWorld Tuberculosis Day, 2021

(d) World Malaria Day, 2021

35. Which of the following Constitution
Amendment Acts made necessary
provisions for the implementation of GST
(Goods and Service Tax) regime ?

» (a) 1015t Amendment Act
(b) 1024 Amendment Act
(c) 103" Amendment Act
(d) 104th Amendment Act

36. Foreign Minister of a country, Anthony
Blinken had visited two days to India for
strengthening co-operation on July 27
and 28 in 2021. He belongs to which of
the following countries ?

(a) United Kingdom
v(byUnited States of America

(c) France

(d) Australia

37. Consider the following events and arrange
them into chronological order :
I. Sharda Act — \97°
11. Nehru Report —'228
1II. Constitution of
IV. Dandi March —9 3°
Select the correct answer using the codes

_ given below.
Codes :

e 111, 11, L and IV

(b) I, 11, 11l and IV
() IV, 111, Il and [
(d) 1, IV, Il and I

j’ ‘Blue baby syndrome’ is due to the
resence ol WI%CH ol the following in the
lood ?
(a) Haemoglobin
(b) Methemoglobin
(c) Lead

M itrate

A

Simon Commission-|she

34.

35.

36.

)7/

38.

(d) fervar metfen feas, 2021

frrfifad § & F-a1 Sy GevE S
e fra (a@qdﬁmm)ﬁuﬁ%w
¥ fou Sava® TEuT HAT 8 7

(a) 101 af guiem FfafrE

(b) 102 af g¥nea aAfufam

(c) 103 af sy Ffefam

(d) 104 af Feed HfuFEH

27@28@?@,2021@@%:{%%%31@
GeiF feerha 3 WA o T HEAM AN
+0 % foru w1 a1 feaea aen i o | '
Srferiad § @ form 2 & FREfA B 7
(a)?.{'lﬁigm

(b) TYF TS AR

(c) 1 H

(d)

A fw U g2 @ T I HT FEA I |
e
() III, 11, [ Q4T IV
(b) I, 11, 111 a1 IV
(c) IV, III, T1 & 1
(d) 1, IV, I @& 1T

i fefafes 3 @ freh ufedfa & SR
‘o et frgiw’ /i R 7

(a) EHIcfeR

(b) HedwHIafe

(c) TS

(d) e
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39, Given below are two statements one is

40.

41

42.

43.

A

labelled as Assertion (A) and other as
Reason (R) :

Assertion (A) : The government faces
a tough time tackling the bottleneck
inflation.

Reason (R) : The situation is due to
deficiencies existing in the economy
such as supply bottleneck and inefficient

distribution.
Select the correct answer from the codes
given below.

Codes :
&) Both (A) and (R) are true and (R) is
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)
(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true

Which of the following is indicator of air
pollution ?

(a) Puffballs p) Algae

(c) Lichen (d) Moss

Consider the formation of following States
and arrange these in chronological order :
I. Goa o)

II. Telangana-4»\%

III. Jharkhand « %\

IV. Haryana

Select the correct answer from the codes
given below.

Codes :
(a) I, II, III, IV (o) RV ST SETISS T
(er I, II, IV, I (d) IV, III, I, II

he name of the foreign journalist who
reported about Satyagraha at Dharsana
salt works was
(a) Francis Louis
(c) Web Miller

(b) Mark Tully
(d) Philip Sprat

‘World Ozone Day’ is celebrated on
(a) 25" December (b) 215 April
0(9/16”‘ September (d) 30" January

SMRN-1 - 2]
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40.

41.

42,

43,
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o7 37er T 38 TS & v B 2 |

A9 U e & &t T HI T I |
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(a) (A) 3T (R) 21 wed & 9T (R), (A) #T
e AT FAT 8

(b) (A) 3 (R) 3 77 &, B (R), (A) I
T AT T8 LT 2

() (A) T4 2, g (R) TTid @

(d) (A) e 8, T (R) 89 &

frffaa # @ F9-71 91 T H HIF @ 7

(a) THETH (b) &

(c) EgHA (d) =1E

frefafaa Tt & e W fa=an fifse 991 3%
FTATIHE  Tafedyq Fifs

I. TaT

I1. deTmT

III. FRETE

V. =i

Fie fo T o = e & e I = AR |
% :

(@) I, II, I, IV (b) IV, 1, III,-1I
(U, I, IV, I  (d) IV, HI, I, II

39 forcsft v 1 919 TqEd R e g
T I HATWE % 91§ §HER fu

() BFE G (b) AR g

(c) ¥ firem (d) T B

‘T 3o few’ weman W @

(a) 25 ReF & (b) 21 3w #

(c) 16 =R ®  (d) 30 Fwadt Y
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44,

With r.eference to ‘birth rate’ which of the
following statement(s) is/are correct ?

l—Urbanization helps in reducing the

birth rate.

2. High literacy rate is directly related

45.

46. Which one of the following is@

to low birth rate.

Select the correct answer using the codes
given below.
Codes :
(a) Only 1
(b) Only 2
Both 1 and 2
(d) Neither 1 nor 2

With reference to the ‘Uttar Pradesh
Population Control, Stabilisation
and Welfare’ Bill, 2021 which of the
following(s) is/are correct ?

yﬁis Bill aims to bring the birth
rate down to 2.1 per thousands

population by 2026.

2_At present, the fertility rate in the
State is 2.7 per thousand.

Select the correct answer using the codes

given below.
Codes :

(a) Only 1
(b) Only 2

‘\[;J/B?Jth 1 and 2
(d) Neither 1 nor 2

)

correctly matched 2

(Provisions) (Sources)
(a) Fundamental Rights - USA
(b) Directive Principles of
~ State Policy - Ireland
sesidual Powers of
yg::ir @"""X_ — Australia
- Germany

Wmcrgency powers
AN

%

45.

Dac.
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44. SR w3 Pt ol 3 & w-a/a

g8l 2/8 7
l.mmaﬁwwﬁﬁmél

2. Sl HIERAT @ a1 ey stver & i
g 8 |

= o T e & wE I g |
%c

(a) et

(b) ad 2

(c) 1 3R 2 M

(d)Fa 178 2

IET yey e fs, feurdier iR wearr
s, 2021 F =¥ § HH-|1/8 FYF FEl

2/8 ?
1.%%%%@2026%@3{@
2.1 9fd IR STEEAT % HH BT 8 |

0. gAaH # T # Yo &t 2.7 fd TR 2 |
F2 few T pe & FE I H I |

Fe:

(a) ad 1

(b) A 2

(c) 1 3 2 gFf

(d) T 17 &2

frefufiag § @ SH-91 TH W §& gAfed
TR ?

(STTaTET) (&)
(a) T FTRHR - HgF T
TR

(b) T 3 A v = - S
(c)mﬁmmﬁﬁf - ateferan
(d) STATIEA WfFwEt - S
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I _ 11 & gAferd ehIST qem gfea
47/‘ Match List — I with List — II and se:lect 5T I:Eﬁ Ia’qu:vﬁ ﬁg‘é’l?ﬁ?ﬂﬁq |
“"the correct answer using the codes given % e feu 77T e
below the lists. q\a‘t 11 ﬁiﬁ - II
List - I List — IT (zafirt s (gEaTea)
(Mineral (Headquarters) ) 5!
Exploration AT
Agencies) A. del & qTfee 14 1. YR
A. Oil and Natural 1. Bhubaneswar L , (
Gas Commission
B. Mineral 2. Hyderabad B. @fst 3=t 2. BUETE
Exploration fafaes
Corporation Ltd. C. T @i foam@ 3. TATgL
C. National Mineral 3. Nagpur ool 53
Development |
Corporation D. Ut Qﬂ!ﬁﬁﬂq 4. 3 faoefi
D. National 4. New Delhi FAT fAfiee
Aluminium 7
Company Limited e :
Codes : A B € D
A g g 113 (2R I ]
(a) st ‘ b 2 b3
(b) MR g ”4321
(€4S 3l ok (c)
Ndyoies i ()2 S A L
48. With reference to the G-7 Summit held | 48. 37 2021 & =R G-7 Rrat e & g
in June 2021, which of the following 4 frafafig & @ s9-91/8 Fu7 9@ 2/8 7
statements is/are correct ? 1 113“3%3 IS ;
1. United Kingdom was the Chair of / ¥ 9 Rre gt 1
the Summit. STEAE AT |
2. Brazil was invited to the Summit as 2. st =t rfafy 2w % w9 ¥ firgr geter
Sela tguﬂ-le: :: Cr?runttry. using the cod " ST R gﬁql \
ec orrect answer using the codes
given below. e feg me & | Tl I I <
Codes : &
lz}))nly 1 (b) Only 2 (a) Sheret : (b) = 2 S50
Both 1 and 2 (d) Neither 1 nor 2 (€ 132  (d) IR 17&2 |
49, g:;:g;;;béirc;tf&sccc:tﬁ?t{; Corgjmittec of Indian | 49. YR G§a hi < @ Gy deften w2 : (|
nizes the At 3 A
Report of the Comptroller and (@) h ' e & i {
" Auditor General (b) ¥ st wiva fafty st : 2
(b) Consolidated Fund of India
(c) Public Account of India CRISEREACE 56. ¢
(d) Contingency Fund of India (d) W Y SyreRfeierar ffy 6 {
:
Which one of the following is known as | 50, fr=ifeifan # @ frgen! Tremw @ § =fd (!
accele;atmn stage in the urbanization 37eTET SHET STl B 7 N(
curve ‘ forfi = C
(a) First stage Second stage (8] THH SR (b) e :
Third stage d)' Fourth stage (c) el Srareer (d) wqef srawen A
-10-
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51. At which place did Raja Raniit Singh
up the Adalat-i-Ala ?J e

(a) Amritsar (b) Lahore
e} Firozpur (d) Multan

52. As per SDG India Index and Dashboard
2020-21 published by the NITI Aayog,

which one of the following States was
@. mong the top five States in their
performance regarding SDGs in the

country ?
(a) _Gujarat (b) Andhra Pradesh
_ley' Goa (d) Tamil Nadu

53. With reference to(Socotra Island,)which of
the following statement/s is/are correct ?

1. It is an Island of Oman, situated in
the Arabian Sea.

2. It was designated as a world natural
heritage site by UNESCO in 2008.
Select the correct answer using the codes

given below.
Codes :

(a) Only 1

(c) Both 1 and 2

54. Which of the following is NOT the eligibility
criterion before filling registration/
application forms for Uttar Pradesh
Mukhya Mantri Swarojgar Yojna 2021 ?
(a) Age group from 18-40 years
(b) Minimum high school pass certificate
(c) Should not registered in any Central

Government or State Government
\.  Swarojgar Yojna
Citizen from any State of India

(b) Only 2
(d) Neither 1 nor 2

55. Which of the following Bills can NOT be
first introduced in Rajya Sabha ?

(a) Ordinary Bill
(b) Constitutional Amendment Bill

(c) State Re-organisation Bill

_ld) Money Bill

56. ‘Zero Hour’ in the working of the Indian

Parliament means ]
(a) The first hour of the Session
(b) When privilege motion are accepted

Jc}-Hour before question hour
(d) The time immediately following the

question hour

1.

SMRN-1 - 21

51. Ten ita fg 3 5w = @ stered -u-3HTel

&1 T T 7
(a) IqAHT (b) @TER
EREALERS (d) geAdH

52. Hfd mEM gr yeIfE we . sfean seEE
we 2EIE 2020-21 % @R Frfafad 3 4
PH-T1 U9 v, g, gt 399 9e9d |
e % ¥ utg Tsar § wferfaa agian ?

(a) TSI (b) Y FeH
(c) e (d) afFerTg

53. Qe A9 F dadf § frefafiad § @ FF-91/4
HUT eI 8 /e ¢

1. 78 3 1 Tk F9 2 571 3R are A B |
2. 38 2008 H Fen! g fava wrfaeh fawrEd
Torel % &Y | ATiea T T AT |

9 feu 1w 2 & Tt ST AT |

e .

(a) I (b) Fad 2

(c) 1 3R 2 3Hi (d) Far 1382

54. I N YEAEA TSR FioET 2021 % T
GofieRoT/3TTeT T W @ qd fefafed 7 |
-1 AT H1 HHCUS TEl & ?
(a) 3g a7 18-40 T4
(b) =g BTS Thel YTH FHIUTA
(c) fref H=T TR A1 T FEHR TR

A1 | Yofihd TET &1 =Ry
(d) W & feret oft TS < ATIRER

55, frfeiad § & -1 fraes TsaE | Yo §]
SReTTere e feRa S TRt @ 7
(@) |THTRYT faeRER
(b) wifererfen we e
(c) Trsy gifad faeesh
(d) &

56. W wEE o T § i w5 o
(a) T 1 TH H
(b) STt fersrenfire srearer i & &
(c) W I o el i shied '
(d) ¥ <HTeT sht Sieh g Al A
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58.

: b S 57.
57. Which one of the following pairs 15@
correctly matched ? £
(Tirthankar) (Nirvand a
i 'h - Ashtapa
a) Rishabhanath As .
Eb) Vasupujya _ Sammedashikhar
(c) Neminath - Urjayant.a
(d) Mahavira — Pavapurl
Who among the following has been | 58.
appointed as first Women Treasury
Secretary in United States of America ?
(a) Lyoyd Austin
(b) Janet Yellen
Merrick Gardand -
(d) Tullipan
Consider the following and arrange these | 59.

99!

~(60./Which of the following newspapers

i 61.

62.

A

in chronological order :

I. Golak Nath Case —\%i° 9
II. Keshawanand Bharti Case— 172
[IL. 24 Constitution Amendment Act—\H*
Iv. 42nd Constitution Amendment Act-1 5pé
Select the correct answer from the codes
given below.

Codes :
\,mf,em, I, IV

(c) IIL, I, II, IV

(b) I, I1, 111, IV
(d) 10, I, IV, II

won the ‘Pulitzer Prize, 2021’ in the

prestigious public service category ?

(a) The Wall Street Journal
(b) The New York Times

(c) The Washington Post
(d) New York Post

Which of the following is the largest
lagoon lake situated on the east coast

of India ?
~+b7/cmlka

(a) Pulicat
(c) Kulleru (d) Kilivali

Which Indian Naval Ship participated i
Exercise Cutlass Exprels)sl,J 202 lp'? eghin

(a) INS Vikrant

(b) INS Magar
\JCLINS Talwar

(d) INS Vikramaditya

-12-

60.

61.

62.

SMRN-1 - 2] vi
i

Wﬁ@ﬁ-mﬁwwm

Wff??i ; (Frarfon 221eA)

(a) FBTHATS . g

(b) AEFTH L e
(D qrargd

(d) FETETT . |
P & & PR wga T R
uwu%wmwa;wﬁrmm
™R ?

(a) TS AT

(b) S IS

(C)WTH@%

(d) ST

frerffaa T feram RIS AT 3 FEl Hlerw
7} eqafeda I :

I, MY TG

I1. A=, AT 918

I 24 9 Gfaum gua afaf=Es
IV. 42 af dfeum gene Afafas
12 feu e ¥ F& 3T H1 =TFH HIC |

% .
(a) I, III, II, IV
(c) IIL, 1, II, TV

frafofas woemwEt § @ e afafssa <+
Har Aoft § “gfeTeoR TR, 2021 SitaT @ 2
(@) & I Fie S+

(b) & =T TrEFH
(c) T aTf¥nTeq URe

(d) =T TR
feferfaa # & v % 1=ff qe w fm geg =
N 3 - R ?
(a) geftehe
(c) Fete

(b) L, II, III, IV
(d) IO, I, IV, II

(b) feree
(d) frehaeh

T TR, 202 1 I H Wiy e 5

forw T & Wi form o ¢
(@) 3T¥. w1 uq, fashia

(b) 31§, U . wH. WX

(c) 3170408, qerEn

(d) 38w ww, fasrmfery

63

64.

65.

66.

69.

S R S— PEESte W7o e R =

~ o rn
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63. Nitrogen is NOT an essential constituents

64.

65.

66.

67.

68.

69.

of
(a)€hlorophyll (b) RNA
c) DNA ‘s@r}/carbohydrate

Which of the following words is NOT
mentioned in the Preamble of the

Constitution of India ?
(a) Sovereign (b) Democratic

(c) Secular W ederal

The book Fawaid ul Fawad’ is the
record of the conversations of Shaikh

Nizamuddin Auliya, it was compiled by
(a) Amir Hassan Sizzi

(b) Amir Khusro

(c) Ziauddin Barni

(d) Hasan Nizami

In which of the following years, the

Environment (Protection) Act passed by
the Government of India ?

(a) 1982 “t5] 1986
(c) 1990 (d) 1992

Which among the following is, NOT a
major factors of economic growt ?

(a) Accumulation of capital and
reforms in technology
Change in population

(c) Division of labour in specialised
activities =

(d) Technocrats and Bureaucrats,,

’ is used to measure

Ringe n sc
density of

(a) Smoke

(c) Fog

(b) Polluted water
(d) Noise

In the contexts of Indian history, which of |

the following statement/s is/are correct

regarding Vaikom Satyagraha ?

1. It was a satyagraha against}
untouchability and caste
discrimination,

2. Mahatma Gandhi participated in
this Satyagraha. Vi

Select the correct answer using the codes

given below.
Codes :

(\/(é) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

A

-13-

63.

64.

65.

66.

67.

68.

69.
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TR T A 3a9d T ¢

(a) FEARIfShed T (b) HR. TI. T.
() €. . T & (d) FEIEESE H

ﬁwfﬁ%ﬂﬁﬁﬁ%mmw@aéﬁwaﬂ

TEqTEAT B Sectfigd T8t 8 ?
(a) FETT (b) EERATH
(c) Tafe (d) ==t

1 AT e 3, FEER deber (A1

(a) 3R g8 fGorEl 7

(b) 3t G|l

(c)ﬁTﬂTZﬁﬁ'-?ET—ﬁ':f

(d) ga= ot A
ﬁm%%ﬁﬁﬁ%aaﬁﬁwmmmﬂr
(ufiegor) srferfras i feham T 7

(a) 1982 (b) 1986

(c) 1990 (d) 1992

Aferfaa § @ FH-a1 A faed &1 e

T el 8 7

(a) qsft 1 H= UE qeFHTh IR

(b) SHEEAT # gfET 1
(c) Terdreapa fopamadt /miaferferat 2w ferrsia
(d) TeIeh{eg Td FHETTE

Yo The’ T SN feeiiEgd d 8 e
T W19 A 1§ ?

(a) g3 (b) e s

(c) & (d) =

TR e & Heu # arein SeamE % geEy
¥ ffefad wuq) 8 @ SH-91/3 96 2/ ?
1. q€ HEYEHA1 S ST SeuTE % foeg

Ueh UIE T |
2. wETeHT Myt 3 35 qoAwg | W forEm o4 |

el fed U she 1 SR A FE IR AT |
%e: 1
(a) e (b) Fa 2

(€ 1aft2gd (d)ad1ad2
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Fruits stored in a cold chamber exhibit

longer storage life, because .

(a) Exposure to sunlight is preyented

(b) Concentration of CO, 1n env1rom?pnt
1s increased

(c) Rate of respiration is_decrea.sc_djn

(d) There is an increase in hum1d1tu

Who originally propounded the theory of

three stages of W?

(a) Karl Marx (b) Talcott Parsons
(c) Herbert Spencer (d) Auguste Comte

72. Which of the following particles has zero
charge ?
(a) Positron v(‘b)/ Neutrino
(c) Electron (d) a-particle

73. In February 2021, Ngozi Okonjo Iweala
was appointed as the first woman Director
General of World Trade Organisation.

She belongs to which of the following
countries ?
»Aigeria

(c) Kenya

(b) South Africa
(d) Ethiopia

: 4. )Which of the following is NOT correctly

matched ?
Institute Location
(a) International Centre - Nairobi
for Research on
Agro-Forestry
(b) Indian Institute of — Bhopal
Forest Management
(c) Central Agro-Forestry - Banda
Research Institute
(d) Tata Energy Research - New Delhi

Institute

n which year the book ‘Poverty and
Unbritish Rule in India’ was publis}l,qecéln?

(a) 1900 A.D, (b) 1901 A.D.
(c) 1902 A.D. (d) 1903 A.D,
76. Who amon

. g the following was the
Chairman of the PFirst Pj
Commission of India ? pEEPRinEnge

(a) Shri. Santhanam
«b) Shri. K. C. Neogy

(c) Dr. Raj Mannar

(d) Shri. A. K. Chanda

70.

7ele.

(25

73.

74.

75,

76.

1A

SMRN-1 - 2] E
b 3 et ST ref srgror Sffer <t 4, C
bl ;
(o) 6l 35 ST 1 e B @
(b)mﬁa@?ﬁCOQW
(o) eIl
(d)mﬁmwm . 7
e feTa o o areenat 1 fHeT e |
fepe wferfed fepa &1 ? . g
(o) edé (d) ST iR
Prfrfiad 3§ & g HU W YA A Al 8 7
79
(a) TISEH (b) =t
(c) S (d) STl
Tt 2021 # TSl JHehio gaen i favd =A@R 80.
wmed § yom Afen EIHGYE $ w9 A
fepar mra 2 | e wiegen ffafed & 4 foa g
g7 :
(a) ATgSfifen (b) Gféor 3TshreRT ik
(c) =i (d) sHifaa
Ffafiad § & wF-w1 3m g8t gafea
S ; 82.
(a) IS IEg-arreh! — et
ST 3 ;i
(b) YRt o1 Yoy R - s
(c) F= Trer-afyehy — gfer
FTHI Hee S5
(d) 711 ot STgEuE w5 feeeh f
(a) 1900 . e '
(c) 1902 3. fd; iggg §f ;
Frfafea 8 9 o5
Ul WA & W fie e & f
(a) =, wyTmY
(b) =, . =, fgnf {
(c) E1. TS 5aAR (s
(d) . u %, ey i x(
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77) After cutting cucumber if salt is added,
then water comes out due to

(a) Active transport

(b) Passive transport

\_{ey Osmosis
(d) Diffusion

78. Which of the following Ramsar site 18
NOT situated in Uttar Pradesh ?
(a) Sur Sarovar
(b) Samaspur Bird Sanctuary
(c) Sansai Nawar Jheel
d)ySurinsar-Mansar Lakes

79. Site of gaseous exchange in lungs is
(a) Tracheoles ronchioles
(c) Pulmonary vein (d) Alveoli

80. Which one of the following i§ NODan
element of rural community ?

We-feeling (b) Cultural diversity
(c) Territory  (d) Self-sufficiency

81. Tapa cloth is obtained from the plants
of which one of the following family ?

(a) Asclepiadaceae (b) Moraceae -
(c) Graminae (d) Malvaceae

82. Which one of the following Acts of
British India strengthened the Viceroy’s
authority over his executive council by
substituting *
system for corporate functioning ?

\_h’?ltndian Council Act, 1861
(b) Government of India Act, 1858
(c) Indian Council Act, 1892
(d) Indian Council Act, 1909

83. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

7@Aasertion (A) : Various components of

/ &an ecosystem are not interdependent.
Reason (R) : Human activities have the
Impacts on the environment,

Select the correct answer using the codes

given below,

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R} are true, but (R) is

-, Dot correct explanation of (A)
c A} 18 true, but (R) is false
dAA) is false, but (R) is true

rtfolio’ or ‘departmental’ |

sl

78.

79"

80.

81.

82.

83.
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@iaﬁwa&mmm%,ﬁh‘:‘ H
3 fpes wRoT g ket @ 7

(a) T TREET

(b) fafsra aftagt

(c) gIrELT

(d) SR |
ﬁm%%a% 3 8 T TR T FaT e H ferd
TER 7

(a) T HT

(b) FHHYE G&ft TARTT

(c) TS AT FHIe

(d) gRE-amE i/

et # frefty fafm 1 v @

(a) SferaTeH (b) sifepaicd

(o) Tt fird (d) e
ﬁm?%ﬂﬁﬁﬁqémmwﬁﬁ
Tge 7 ;

(a) B9 1 9EHT (b) WTEhide fafaed
(i)aﬁa (d) STTerfAa
fraferfiaa 3§ 9 forg a1 & 99 & 29T F9l
AT AT R 7

(a) Ufewefifugdt  (b) TRET

(c) Tefieft (d)

fafew sfvean & f=fofaa o @ fom afufm=m 3
afeeh FHRETEH & wH W) faurr’ a fauria’
Tgid g SEEE S HEHR YRNe W I

TR w3 31fees a9 yer fe 2

(a) W aftye arfufiem, 1861

(b) WRd HHR , 1858

(c) Wl uftyg rfirfm, 1892

(d) weta gfteg srfafaem, 1909

Fr Q) e fow e, Rt & w9 sifeem (A
W@ﬁm R) %8 T 8 : &
stf¥reRem (A): T % fafiy g
3T H T g ) Pk T #

%‘;‘"%(Tll WA fRans & amre wwifya

gﬁﬂﬁ%ﬁﬂ‘aﬁmwwﬁm|
(8) (A) 3T (R) @
5 Feo ¥ e
R
FE%EIT@T):&T Q';.T;g g (R), (4)
TR R TEmE

, A (d) (A) Tera ’%‘R)m%

’ -15.

s
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aAThe = Sor 2
s Preeferiae 3 & - A I H A7
: hemes in Uttar 84. 221}3”%@’13;% !
84. Which of the following Schem Budget of 2021 - a~io
Pradesh were introduced in et EAED gfrg feepm
2021-227? vit [. AT
I. Atmanirbhar Krishak Saman STl e garyor e
Vikas Yojna fan IL. . Serfirar faeTd ST
II. Mukhya Mantri Saksham Supos [11. a1 gt Afih
Yojna ; | R
lll. Mukhya Mantri Pravasi Shramik 1V, Ja1 Jefar ferehmd
Udhyamita Vikas Yojna _ 3 fou T ET Y FEl I A I9IH it |
IV. Yuva Udhyamita Vikas Abhiyan
Select the correct answer from the codes 7z
given bfelow. A e 1 (b) II, 11l T& [V
Codes : (a) L, 5
(@1 Mand I ] I, I and IV ST () 1, I & IV
oLLlandlV  (d) I, Il and IV , T ! e
85. Which of the following iorrectly 85. fHfcRad —§ q 5 -
matched ?
(a) Hundru Waterfall - Subarnarekha (a) gU8% 9T = gavﬁ'@'[:ra"r
River
(b) Chachai Waterfall - Bihad River (b) ==TE ST - ofigg FEt
(c) Dhuandhar ¥ - Narmada ;
Waterfall River (c) YATIR 91 - THEr T
Budha Ghagh — Kanchi River A
Waterfall (d) Qe ITE - i g
86. Which of the following icorrectly 86. Frforfed # & H-ar w Hafera =& & 7 :
matched ? . :
(a) Acid present in - Acetic acid (a) |31I3§'l ﬁ U 3 THifesw 3
vinegar (b) efgzt & Sufeda Rfg Edizame
(b) Compound present — Calcium B
in bones phosphate
JerSouring of milk  _ Nitric aciq (c) 34 1 et By - TR -
(d) Acid present in ~ Hydrochlorj d) AR W IR i
gastric juice acid 2% & e N 7 @ﬁﬁ?ﬁ
: SIS
87. Match List - I with List —~ II ang select | 87 T - 1oy
the correct answer 1] t ; ' T -3 ﬁﬁ%ﬁ *Ii\aq LR ﬁ!‘\?lq.'
below the lists, 5 ¢ Codes given A P T o ST g |
| List - | Al &
,k (Voleanic (gt::ntn) - Tt - 11
I Mountains) Y (W LE)) (%QT)
A. Mount Rainier 1. Ttaly A, HIRVE I 1. 3e=h
| B. Mount Etna 2. Mexic B. W¥vE vy
0 2. Afvgsy 9
C. Mount Pericutine 3 Philippineg C. WUz Yy 3. Fhefiome=g
‘ D. Mount Apo 4, U.SA, D, HIRU2 gy )
[ Codes : e 4 qW@,
A B C D A B
/ (a) o Slia Bl C b
| g1 23 2 Nty
(Clf2Ealiqu 3 (b)4123
@4 3 2 1 CEE
-16.-

A
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88. Which one of the following is the main
constituent of LPG ?

(a) Hexane (b) Pentane
\(cLButane (d) Methane

89. Which one of the following rivers is NOT
the part of Indian_Ganga river basin ?

—(‘a’)/Punpun river (b) Ajoy river ,
(c) Jalangi riverp (d) Jonk river

90. The blood glucose level is commonly
expressed as

(a) MM of Hg

(b) Milligram per decilitre Y
arts per million

(d) Gram per litre

91. The ‘Saras Ajeevika Mela — 2021’ was
organised in which of the following city ?

atna (b) Raipur

[/ ucknow (d) Noida

92. Nobi and Kanto plains are located in
which of the following countries ?

(a) North Korea (b) South Korea
(c) Japan (d) China

93. ‘India climate change knowledge portal’
was launched in which of the following
months of 2020 ?

(a) November, 2020
(b} December, 2020
(c) September, 2020
(d) October, 2020

9. Ministry of Culture, Government of India

as part of Azadi ka Amrit Mahotsay
celebrated the birth anniversary of
aheed Ra_m Prasad Bismil in June,

2021 at which ;
in Uttar Pradeglrlw?cf the following places

jg)/chauri Chaura
) Shahjahanpuyr
(¢) Rampyr

(d) Ballia

-17-

Gé\f/ o
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88. 1= o § F-w1 va. ft. 0. =1 gy a@wa B 7
(a) B (b) ¥
(0= (d) =

89. fr=fafan & @ -+t v & w7 7@
a3t 1 e 8 2 7

(8) 3797 79 (b) 3713 7@
(c) Stamft T (d) ST et

90. T&d H IehU I TR HHT=aAT Yelkia fear
ST B

(a) T 1% Hg & &g #

(b) Firefiam wfa Sfafrer & =g &
(c) rew wfa fuferss & =g &
(d) am ufy ferex & &9 §

91. ‘T JTSAIH AT - 2021’ FHT A
freferfaa & & forg e & fomar o7 2
(@) ge (b) TER
(c) @IS (d) Tra=r

92, %ﬁ%?@emmﬁnﬁf@aﬁ@%&%ﬂﬁ
(a) ST ifET (b) efayo it
(c) STTaT (d) ==

93. ‘ﬁmmﬁz%mﬁﬁaﬁﬁ’mg

WY
2020 % frfafian & @ g ofe} § R
T o7 7

(a) TaF=T, 2020 #
(b) femwer, 2020 #
(c) forawr, 2020
(d) TR, 2020 #

94, mw%mmﬁmw
AN % T S % ¥4 9, 2021 § e
T G TR0 1 il 3o s Pt
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95. Who was the founder of the ‘Asiatic |

Society of B al’

(a) Jonathan Duncan
~Ab) Sir William Jones

(c) Warren Hastings

(d) William Bentinck

96. With reference to ‘NET — ZERQ’ goal for
2050, which of the following statements
is/are correct ?

. It means that a country will bring

% down its emissions to zero by 2050.
and removal of green house gases

from the atmosphere.

It means that a country’s emissions

will be compensated by absorption
Select the correct answer using the codes
given below,

e 3E A’ T T
95. ‘TRETEH

96.

S

98,

Codes :

(a) Only 1 /ﬂf Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2
97. Given below are two statements, one ig

labelled as Assertion (A) and other as

Reason (R) :

\ﬁAsIse;_tion (A) : The Council of Ministers
in India is collectively responsible to both
Lok Sabha and Rajya Sabha,

Reasoq (R) : Members of both Lok Sabha
ar}d‘RaJya. Sabha are eligible to become
Ministers in Union Government.
Select the correct answer using t
given below. Sskodes
Codes :
(a) Both (A) and (R) are true and (R) ig
correct explanation of (A)
(b) Both (A) and (R) are true, byt (R) is
not correct explanation of (A)
(c) (A) %s true, but (R) ig false
(A) is false, but (R) is trye
98. According to the Union Budget 2021 - 9
Fmance‘ Minister Toposed 2
levy Agriculture In rastructura ASYy
evelopment Cegg. This cegg e'lf A
levied on how many productg ? Will be
(a) 12 20
(c) 25 (d) 29
-18.
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g

& a1 7

(b) & faferam St
(c) T Bfee
(d) faferm sfeésn

% forg Se-ofit’ de % we H-
%f%%ﬁw’qﬂ HH-FT/H HUT TE 8/8 7
1. 3Rt aIfiwma ? T 2w =1 2050 % ITH

IESH ) I T A AT BT
Q.Wm%ﬁ%m%ﬂ%m
1 arfagfd ararator & M7 geg At w5
e qen srawiee & 2t |
A1 16T T e & W SR H == Fifw |
G
(a) T 1
(c) 1 3R 2 =y

1(

1(

(b) shaet 2
@ AR 1T

e
(@) (4) 3 (R) 2

arr@znm;%% TR (R), (4) 7@
(B) (&) s () 2

e T oy
() (A) W 8,
() (A) 7o &

g R). (& €
e 4 Fc"ﬁ()(A)

5 (R) o
T (R) w3
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99. |A member of State Public Service
Commission may be removed by

(a) The Governor on the basis of
impeachment in Vidhan Sabha

(b) The Governor, after the enquiry
conducted by the Supreme Court

(c) Fhe President, after the enquiry
conducted by the Supreme Court

(d) The Governor, after the enquiry
conducted by the High Court

100. Which of the following countries is NOT
located on the bank of the Black Sea ?
—

(a) Syria
(b) Turkey

= eorgia
Bulgaria

101. Arrange the following foreign travelers
in chronological order of their arrival in

India :
[. William Hawkins_ 16—~ -
II. Ralph Fitch
III. Sir Thomas Roe — -~
IV. Nicholas Dawnton
Select the correct answer using the codes
given below.
Codes :
(a) I, I, IV and III
V, II, I and III
(c) I, III, IT and IV

(d) 111, 11, IV and I ¢

102, With reference to the ‘Capital formation’

which of the statements is/are correct ?

1, Process of capital formation depends
on savings and effectiveness of
financial institutions.

2 Anvestment is the essential factor of
capital formation,

Select the correct answer using the codes

given below,

Codes :

(a) Only 1

v((z)r(?’nly 2
Both 1 and 2

(d) Neither 1 nor 2

SMRN-1 - 21

99. TS ©ieh Hal SN & Haw &l g2/l Sl
gehdT &
(a) faam @ 9 #eTfimi & Har o asaare
she: _
(b) STAH AT hl SAT< % GY=Id TAITe

Eé;mmwmﬁwﬁ%mmmﬂhm

(d) F=4 =TTer i St o g TSI E

frfefiaa I @ #H-91 291 FHIcT 4R & d2 T
femadia ?
(a) i@
(b) i
(c) StTfstar
(d) gemmien
Prafafiga faeef @it & 39 9d JH 5
FHIAHAMER FaEdd HIfT :
1. fafeam arfe
1. Tew T
[II. & g U
V. fehict| sEed
19 fow e Fe A GE IR B TS HIH |
He
(a) 11, I, IV @1 III
(b) IV, I, I @& III
(c) I, IIL, II @& IV
(d) III, II, IV @2 I

éﬁgﬁﬁw’%mﬁﬁqm/@wa@

/8 7

1. gt fomior <t wfshan =@l 3R o
qeyral < wferar W R st @

2, faawr it Fmiur < for e tfeml F R |

i feu U e ® W I H g |

!

(a) ohefet

(b) Had 2

(c) 1 3R 2 Mt

(dAaam1ad2

100.

101.

102.
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SMRN-1 - 5,

t ”1t11 LlSt I

I T 9949 ?ﬁfﬁﬂﬂ |
€ correct answer using the codes given I T L gt - 11
below the ligts. -1 srafeafy)
List - | List - II (StaHuEe) ( -
(Biosphere) (Location) A. Tafrefare L.
A. Similipal /71 Uttarakhand e 2. AT
B. Pachmarhj X J2. Meghalaya C' :I—_q"lﬁsﬁ 3. 95y ey
C. NandadeVi)é3- Madhya Pradesh D. Soe 4. 3nfewm
D. Nokrek 4. Odisha :
Code:: " Xt AVEBISICIET
I 5o A Il SE
ST 2 () 4 3 L2
() s A e 19" A 3
)8 a5 () SENAANS I

104. Who among the following was NOT an | 104. Frfafas § ¥ 1926 3. ¥ f3q ASEH -y
early member of the ‘Naujawan—Sabha’ f
formed in 1926 A.D. 7

@) Bhagat Singh  (b) yagpgy (a) W fig (b) FemTet
(c) Chhabil Dag bika Chakrayart (c) Bftet ey (d) 3rfeaey
Tshadt
105.)Which of the following is the Correct | 105 FLCIE Ry mﬁﬁ Reirsr
Osequeilce of th;e Islands of Indonesig from e Ty ﬁ'qg;ga e § m-mﬂ;;;a fem R
Mlava, Sumatra, Lombok, Bajj (&) ST, gam, E‘Tqahm, i
(b) Sumatra, Java, Balj, Lombok (b) Faman, ST, 3T, Srersiee
((cc;,; gzlmastra waa JLombEcl)g, ]zat () A, ST, Eﬁ'qaﬁm, el
1, Suma ra, Java mbo (d) m’ ﬂ"ﬂ':n, Eﬂin, W
1 Lapgest saline water lake in India ig 106, Yaay o
‘}azcé:hilka (b) Sambhgar )-" (a) ﬁﬁi@ﬁ HETAS g a@ EiS R
(0) Lonar‘f d) Wullar e | {3; L
‘ e
107. In India the First Munteipg) Corporation 107 ;
| following o2, 4P e aombostion sl o et
I (a) Calcutta B Madragq (@) :
i (¢) Bombay (d) Deln; (S (b) wzrg
Il | 08. Which one of the following p; Written | g e (d) fegh
1 by Noble Laureate Amart S ) TEHR [EET
I Published in July, 595, % V2 Sen angq Pttt 4 N R R ﬁfﬁag
(a) Development and Freeclom TehTfore E—g oft 2 KESED ﬂﬂli 2021
i (b) The Argumentatiye Indiap, (a) éaaqﬁz WS s
I 2 J (c) Home in the Worlg (b) g g oy
J/ ‘ (df The Idea of Justice (c) &y e T
L[] (d) g
/ l.ﬁ] | A
]

5. TR S ey
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109. ‘SENSEX’ is the popular Index of Bombay
Stock Exchange (BSE). It is measured
on the basis of how many blue chip
companies listed in BSE ?

(a) 20 \(b)-30

(c) 25 (d) 10

110. Consider the facts given below :
_l-Sukumar Sen was the first Chief
Election Commissioner of India.
2. Rama Devi was the first woman
‘Chief Election Commissioner of
India.
Choose the correct answer from the
codes given below.
Codes :
(a) Only 1 is correct
(b) Only 2 is correct
oth 1 and 2 are correct
(d) Both 1 and 2 are incorrect

111. Which among the following districts of

Uttar Pradesh is smallest in terms of

area ?
(a) Hamirpur (b) Hardoi
(c) Hathras '\_(g}/Hg;ur

112. Who among the following had performed

the world’s first heart transplant ?
(a) Dr. Venugopal
(b) William Harvey
— A/ Christian Bernard
(d) William Betrick

113. With reference to Mekong river, which of the
following statement/s is/are correct ?

«*Mekong rises in Tibetan Plateau

2. Mekong delta is situated in
Southern Cambodia. 7

Select the correct answer using the codes
given below, ‘
\_%des :
a) 1 only (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2
114, Which of the following vitamins is 114,
essential for normal vision ?
(@) Folic acid (b) Riboflavin

iacin

{dF Retinol

-21.

109.

110.

1Lk

15128

1°1'3%

SMRN-1 - 21

FFY A @ik S (BSE) H1 Yaferd
T 2 | dea i #§ qefag el o fad
FEf & 3HHT 9199 B B 7

(a) 20 (b) 30

(c) 25 (d) 10

= feu mu e W e i

1. 9RG % Yo g7 fFater T ggar & & |

2. VI ! Yget Aigen g fHafem Age T
&t oft |

H= feu U e | wE I R |

F2:

(a) ad 1 Fet 8

(b) el 2 TET ®

(c) 1 3R 2 3 &&t &

(d) 1 3R 2 ST T &

I Wew & ffafaa § @ F-a1 e gawa

&I 3 & Ted BT 8 7

(a) BHITG (b) TETs

(c) BT (d) &9S

fova &1 vgen ¥e@ weAmw fi= § @ e

foram e 2

(a) ST. SUPTTE

(b) faferm &d

(c) Torfvemm &=t

(d) faferm af=

form % wad & Fafafea § 3 SR-w/2
FUT A B/ ?

1. T 1 3T fresrd % weR A R |

2. forehim =1 e et e § w2 |

i<t fRw Mo e @ W) s

G T

(a) et (b) a2

() 1 32 < (d) Id13& 2

IR 3% 3 forg P o & AR -a R
HTEYE el @ 7

(@) WIfeTh st (b) TR

(c) Frnfim (d) Wste
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SMRN-]. - 21

L ———

: GELR &N
i« ue ot | o fawn ;
Can you showtmatons fressectnyillS. wmﬁ ? ... ST g% E, w4
WhTeﬁe It3here are separate e]ectgréétgfe& 9 q@ﬁ—g 8 |
€ British e] tis gone, bu IR Bl T
have Jeft mlisschei:fnl])zﬁi;ldg’. fr=fafes § 4 fre 3q0ew Tm@g I Hiem
ho among the following said the above =  wE o 7
mentioned statement in the Constituent Y1 & 984 :
ssembly debates » (a) HHATY iR
(a) Somnath Lahiri (b) TaTEATA ﬁgﬁ
(b) Jawahara] Nehru ) TER 9@ 918
o) Sardar Vallabh Bhaj pate| (c iy
(d) N. G. Ranga (d) @35t Tm o
According to ‘Global Peace Index, 2021’ | 116. ‘Afvees wrify T, ,2021 3 3,
which of the following js the most o 4 favg @ gy ?Tlﬁl’lflf 8 B !
Peaceful region in the world ? ST (b) I[\{:N
(a) Africa Europe (@) i faqm IR
(¢) Australia (d) South America (c) 3tegferam (d)
117. Given below are two statements, one i 117. 9= 3 e feu T, e T Ao (A)
labelled ag Assertion (A) and other as Ik {g"{ 1 T (R) =par 7737 2 .
Reason (R) HieRer . fo HAEGYGH Tqfy
Assertion (A) : Human body Synthesises fereft # il‘%g:; ;Tﬂ‘{ g;?% |
the vitamins required by it ) F 3R & 3 ﬁ‘TQ ferf
Reason (R) : Vitamins are essential for ST (R) ‘%Tﬁt
PTOPEr growth of the body. EIECID] &ld
Select the correct answer using the codes i fear my ®C Y U ST T 999 Hifam |
given below:. e :
Codes : : ;
(@)\Both () and (R) are tre ang R) is @) &) 3 (R) 2wt # 3 (R), (A) i we
correct explanation of (A) ST Sty :
(b) Both (4) and (R) are trye but () is (b) (A) 3 (R) < wray & g (R), (a)
110t correct explanation of (A) T&T i &
(c) fA) is true, but (R) is false (¢) (A) 5oy 2, ﬁ*ﬁ (R) Terq 2
\-(df(‘A) is false, byt (R) is trye (d) (A) Terg %’ fg,,a (R) T=g 2
@Su amya Bharat Abhiyan g associateq 118, I Ry KR o F’Eﬁﬁa%
) Disabled Pergons (a) ﬁwm&r%‘éﬁ 3}
(b) Child Health Care (b) Ty ey §
(c) Women Empowerment nfter < e
Under Privileged People (((;:)) r N 3 |
119. With reference to the electric otentj 1 féwa[ . ‘
which of the followingStay erients 1y / ;reh“ £ & T 3 ﬁqﬁ'ﬂhﬁ T
correct ? 1 i Eﬁh_m/ﬁ e 2/3 ?
1, It is a scalar quantity, T feyy
. It is a vector quantity, 2 :gg:nﬁ“ $§ I
Select the correct answer using the Codeg e I
given below., mmﬁﬁ@ﬂww%,
Codes ; (y/ e
(a) Only 1 Only 2 (a) ¥y
() Both 1and 2  (d) Nejthe 1 nor o ) S (b) e o
(©) 1 3y 2 3 () ey g o
A -22. I3 &
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120. Match List — I with List — II and select
the correct answer using the codes given
below the lists.

List - I List - II
(State of India) (Highest Peak)
A. Tamil Nadu 1. Dhupgarh Peak
B. Rajasthan 2. Saramati Peak

C. Nagaland 3. Gurushikhar
Peak

D. Madhya Pradesh 4. Dodda Betta
Peak

Codes :

AREEE I C RS D

(a) 3 2 1 4

(B) L e 3o

() 4 2 &) 1

o{d) A SRR

121. A non-renewable source of energy is
(a)-Solar energy Petroleum
(c) Wind energy  (d) Biogas

122. Among the following countries India’s

trade balance surplus is maximum with
which country in 2019-20 ?

2] USA

(b) China
(c) Japan
(d) United Arab Emirates

n which year(P.C. Hota Committee on
Civil Services Reforms was constituited ?

(a) 2003 (b}2004
(c) 2005 (d) 2006

124. g‘he concept of ‘carbon credit’ originated
rom

(a) Earth Summit, Rio-de-Janeiro
(b) Kyoto protocol y
(c) Montreal protoczgl

(dLG - 8 Summit, Hei{;ndam

125. With reference to the Satavahana Rulers
which of the following statement/s is /are
true ?

1. The Satavahana Kings were the
nurtures of Prakrit language,

2. Public aspect of the arts got
more encouragement during the
Satavahana period.

Select the correct answer using the codes

SMRN-1 - 21

120. 9t — 1 gt — 11 & gafera s qen it

% 19 U M0 He A wE I F =7IA FIC |
gt — 1 =1
(¥ & 159 (FE| St 9e)

A. 1. g97e =it

B. TS 2. GRIHAT =Te

C. drmee 3.;@5@1%@

D. T e 4, ag1 91l

H:

ASEB ¢ D

()3 EE2) N 1 g

() SRR A

(C) AR 3R]

(I IEA RS S O ]

121.@;FFR FAl T G 2
(a) (b) HgiferaH
(c) AT St (d) =TETig
122. 2019-20 ¥ fy=fafad 2ot § & frag yma =

SR Y T Faifas @12 7

(a) 4. Tg. T,

(b) ==

(c) STHT=

(d) 939 3" 37

123. fafae darett & gum =g dt.4t. ger afbfs = mes

Tore e feman wram e ?

(a) 2003 (b) 2004

(c) 2005 (d) 2006
‘a:ra‘q%%z’ﬁmmwnmgé

(a) 3 wfie, f-2-3f R

(b) TR MereRrat

(c) HifFRTS Ml

(d) St - 8 wfte, Reficiey

HITETE TEeht & dweyf § Arefafes st o &
HI-H1/Q HH g R/E 7 :

1, |ITETET T e W7 F Gy o |

2. HITETES 161 H Hell % e qa ) A0

124.

125.

firem |
‘ﬂ%ﬁqmﬁﬁﬂé’lmaﬁwl
e
(a) e (b) 1 3 2 3
(c) et 2 (d) T 172

given below.

Codes :

(a) Only 1 (byBoth 1 and 2

(c) Only 2 | (d) Neither 1 nor 2
| A -23-
l pi 5
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gMRN-1 - 2]

b) qTam;’m
E &l i
lass 31 sl d
(a) Soda glass Pyrex g e (c)
(c) Jena glass (d) Crookes & ﬁ‘aﬂq_m@?ﬁ@gﬁ%ﬁqﬁ% !
' its is NOT | 127. (1‘-21'[7{) J
127. Which one of the following pa (wﬂﬁﬁm
correctly matched ? =1 7T)
(Name of local (Places) N ey
winds) ! (a) éa"'ﬂ W |
(a) Leveche -  Spamn (b) « = xF |
(b) Brickfielder - Australia _ (c) F@ﬁﬁ?ﬂ' T 3 ¥,
_leyBlack roller - North America L i Sﬂ@?ﬂ
(d) Shamal -~ Austria (d) 1 182 (
128, Match List — [ with List — Il and select | 128. eft - 1 et - I ¥ gﬁ%ﬁmﬁwﬁgg;ﬂl & :
" the correct answer using the codes given F #T?;Q I T H el IW - (
below the lists. F -q:d} =
List - I List - II () ([T # wfafafie) (
(State) (Representation in TR
Rajya Sabha) A, TSTEITH L ! {
A. Rajasthan 1. 10 seats B. TSR 2. 7 HR@ (c
B. Gujarat 2. T seats C. FteH 3. 11 @@
C: Karnataka 3. 11 seats T 3 1333'€C
D. Punjab 4. 12 seats D. gsitel 4. 12 1:
Codes : & : R
ASSOB SRR AR e Sl 3
-3 il 3 4 2 (a)Eas) 3 4 2 o
1) 2 s 4 1+ (b) 2 3 4 1 R
()1 \.’2) 3 4 p (c) 1 - 3 a fe
f20
129. Who among the followi i b o |
t won the Ogcar A\Sa;)c;mfrég gféeﬁéii 129. 2021 % 3wt araré B T W TI9E gt 7 =
' motion picture in 2021 for the movie TERR S et fopey “Tigave” (@
i “Nomadland” ? ﬁn%‘ﬁﬁ'ﬂ SN R EOEE
g (a) Chloe Zhao e e fopa o (b
(b) Emerald Fennel EIC
(c) Lee Issac Chung (b) waeg ‘E}ﬁa (c
«Ad) Thomas Vinterberg (c) ¥ suTH ‘arr[ a_let
(d) ATe fagent 13
@hich of the following pair i 4. gh
correctly matched ? 1s NOT 130, oy & 3 H- : C
.z) Alaska ~ Koryak (vum)
) Borneo ~ Punap (@) STeTTe=T 1 (Wﬁ) (b)
TR (c) Arab Desert ~ Rugats (b) ~ PRATH
. LI (d) Sweden and Finland - Lap, o (©) 3R Treersy - W ()
(o ) S o Ry (
= d
-24. hd F h )
A

e
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e following Committees on

ider th )
g ggrrllghayati Raj and arrange these in

chronological order : -
[. Ashok Mehta Committee @

II. L.M. Singhvi Comn_littee

[Il. B.R. Mehta Committee ©®

V. G.K.V. Rao Committee

Select the correct answer from the codes

given below.

Codes : P
@1, I, II, IV by I, I, IV, 11
@) I, 1L, IV, I

(c) 6E 10 00 IV
The functions of the State Public Service
Commission of Uttar Pradesh can be

extended by

(a) Prime Minister

(b) Union Ministry of Personnel, Public
Grievances and Pensions

(_c)ﬂ’he President

(d) Uttar Pradesh State Legislature

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Teesta river was earlier a

tributary of Ganga now it is a tributary

of Brahmaputra.

Reason (R) : River capturing is a major

feature of Himalayan rivers.

Select the correct answer using the codes

given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (RB are true, but (R) is
not correct explanation of (A)

() (A) is true, but (R) is false

o td(A) is false, but (R) is true

134. The primary duty of the Finance
COmmlsglon of India is
(a}To give the recommendations on
d1str1b1_4t10n of tax revenue between
the Union and States
(b) To prepare the Union Annual
9 ?udget
) To advise the Presi i
e advi resident on financial
(d) aq allocate funds to various
Ulriustnea Departments of the
nion and State Governments

132.

133.

131

132.

133.

134,

-25-
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. TEmEet U 9 e affet q—(ﬁw%ﬁﬁm

376 FHICTHHTIET STaEd ¢ -

1. 37911 Hear afufy

1. vt un. faeref afafa

[11. =ft, &Mt veEar gfufd

v, st e gfafa

13 g 13 % Y TR § T I A7
iy

?& G

(@) I, II, 1II, IV (b) III, I, IV, II

(© I, I, I, IV (d) 1L I, IV, I

e 29 % USA Wi HAl AEN h HE

e 3 ST FehdT 2

(a) TETHHAT G |

(b) = HIftfeh, wieh PThdd adl CEC
T gl

(c) Trsgafd g

(d) 3T W& faum AUSe g

A 3 o Ruu E, o 8w 1 AMFHSA (A)
371 gE i FA (R) FT AT :

stfrram (A) : forea 7 Tee T S WA A€
off TSIt 98 FEGH il HEFH 74l ¢ |

HWOT (R) : T 9= e i Afedl H1

THE TR |
A fRe e e @ Wl I BT = AT |

T4

(a) (A) 3 (R) 3 & & 31 (R), (A) A &
ST T &

(b) (A) 3R (R) ﬁmé,ﬁ},‘.ﬁ (R), (A)
el e 98 @

() (A) ¥ &, g (R) Trerel &

(d) (A) TeTd R, foheg (R) wea @

T 3 Rt o @ st da &
& forerfet 2
(b) wefry aTfier wote daR ey

(d)'ﬂqﬂmmﬂ%ﬁm .
*ﬁqﬁﬁﬁmﬁﬁmwlﬁ“ﬁ
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135. Which of the following labour relatfge
Acts have been amalgamated into
‘Code on Wages, 2019’ ?

[. Minimum Wages Act «~

II. Payment of Bonus Act _~
[Il. The Contract Labour Act
IV. Equal Remuneration Act

Select the correct answer using the codes
given below.

Codes :

(a) I and II only

(b) IT and III only
(¢) I, I and IV only

AL, 11, 10T and IV

136. Who among the following was NOT

associated with the Kanpur Conspiracy
Case of 1924 ?

' \La')/ Muzaffar Ahmed
alini Gupta
(c) Shaukat Usmani
(d) M.A. Ansari

137. As per the Census, 2011 estimates,

which one of the following is the most
populous State in India ?

(a) Bihar (b) Madhya Pradesh
(c) Maharashtra J;!ﬂ/ Uttar Pradesh

138. Which one of the following ig NOT
correctly matched ?

(Subject) (Related

Articles)

(a) The separation of oo Article 50

Judiciary from executive
he promotion of
educational and
| economic interests
! of Scheduled Casteg
_: and Scheduled Tribeg
(c) The promotion of i
Co-operative Societiefmtmle 34
d) The organisation of _ _ :
‘ il Village Panchayats 7 Mticle 0
" and enable them to
( function as the units
‘ of self government

~ Article 46
/

SMRN-1 - 5,

: y eft ATFHT A g
L32: xﬁitﬁ;%m%mw% P
I, =R wel St
11, FFH AT A
111, wferer & v
Iv_qmwﬁmaw
fi fed T e | FE I F A HiRT |
L T4
(a) Shaa 1 3R 11
(b) =here II 3R III
(c) e I, 11 3R IV
(d) I, I1, IIT 3 IV

136. F=1 4 & 1 ©h 1924 % HHE ve43 T |
IS 78 o7 ?
(a) HIFHL IHEHG
(b) T e
(c) IMrd ITmTR
(d) T. u. g
197, ST, 2011 % SR ¥ STgew W &,
ﬁﬁaﬁ?~mwmﬁ¢mmma?
(a)ﬁ'é'l'{ (b)mzm%m
MR (@) IRy
i '”'”'Maﬁ“‘m‘l’wﬁgﬁ%ﬂéf%?
HIwDT)
(@) Ao 3wt - 5
) ST s
ST SRy 3
‘a’ﬂﬁlﬂiﬁmaq-rﬁfa;
%ﬁaﬁraﬁq@ |
o T
() T e
T ey gy~ T
ANRRLE R F
EEIE)! Ty

-26-
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139. Which among the following are India’s
~permanent and operational research

stations in Antarctica ?

(a) Bharati and Arya '
\by Bharati and Dakshin Gangotri
(c) Bharati and Maitri £
(d) Dakshin Gangotri and Maitri

140. Which one of the following is NOT
correctly matched ? .
(Name of Player) (Medal Won in
Tokyo Olympic
2020)

(a) P. V. Sindhu — Bronze Medal
(b} Bajrang Punia - Silver Medal

(c) Mirabai Chanu - Silver Medal

(d) Neeraj Chopra - Gold Medal

141. How many districts of Uttar Pradesh

has been covered under the Aspirational
District Programme run by NITI Aayog,
up to June, 2021 ?

(a) 4

98

142. Which among the followin
released the
2021 ?

(a) International Monetary Fund
United Nations Population Fund

(c) World Health Organisation

(d) United Nations Development

(b) 6
(d) 10

g organisations
World Population Report,
ﬁ‘——___;

Programme
143, Match List - I with List — II and select
the correct answer using the codes given
elogv the lists,
List - | List - I1
(Text) (Author)
A, Ragamala 1. Somanath
g- Rasa Kgumudi 2. Venkatraman
; gﬁga V:jbodh 3. Pundrik Vitthal
aturdandi 4. Sri
Prakashika r1 Kanthg
Codes :
A B ] D
@ 3 4 2
b) 4 , 1 3
“(fg)f 8o 15 e
)
A 355 14

-27.

SMRN.-1 _ 51
ISQ.Wﬁﬁﬁq—m.ﬁMﬁwmw
3T 386 gry o STIHITH T 3 5

(a) T 3T 37

(b) |t 3 gfEor mf
(c) Wl 37T 2t

(d) aféqor it 3t A

freferflad & @ H-a1 a8 gifer =4 2 -
(Raemt &1 am) (2T atreAtoys
2020 ¥ fafm
9gh)
+E] Ugh
57d 9

140.

(a) qt. _a°r. %H
(b) =T gt
(c) HraTg = &4 95
(d) st =er vl 9

il ST 5T S S @ e e 1wy
%whmm%mﬁﬁc——ﬁaﬁaﬁ, 2021
T Wi foran T R 7

(a) 4

141.

(b) 6
(c) 8 (d) 10
142.ﬁ1=rf%1ﬁaaﬁﬁ%aﬁﬂa?§maa‘ﬁgém
frare, 2021 St fopm T 2 2
(a) ST g1 iy
(b) HIF T SEE Hry
(c) Tva Ty gray
(d) ¥3F T Rrebre ek

143. &ft — 1) w=ft - ¥ gafer
% 9 0 T %2 @ W we
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144. With reference to the special address | 144.
of the President of India, which of the
following statements is/are correct ?

/‘f The President addresses the joint
meeting of both houses of Parliament
at the commencements of the first
session after each general election of
the house of the people and at the
commencement of the first session
of each year.

1e President in his address informs
the Parliament of the causes of its
summons.
Select the correct answer using the codes
given below.
Codes :
(@) 1 only
(b) 2 only
3oth 1 and 2
(d) Neither 1 nor 2

145. Which of the following organization has | 145.
launched ‘The Great Reset’ Initiatives for
the recovery of global economy during
the Post Covid — 19 phase ?

(a) World Economic Forum
Msrld Bank

(c) OECD

(d) UNCTAD

146. A clove represents to which of the | 146,

following ?

(a) Terminal bud

(b) Accessory bud

Flower bud
chetative bud
147, Lieadline inflation refers to the change | 147,

in yalue of all goods on the basket. On
which basis is the headline inflation
measured ?

(a) Wholesale Price Index

(b) Consumer Price Index for Industrial

Worker
\(c} Combined Consumer Price Index
(d) Urban Consumer Price Index
-28-
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v ¥ Tgahy % Ry st & d< A
erifera # & B -a/@ Fe WA /2 7

1.mﬁ,ﬁm%mmﬁafaﬁ'%
e S w3 e a9 % SUH § &

ST & wae % ST Al 1§D 5D
%! Halferd Har 2 |

2. gt AT SfTeT 3 GEE i IHh TG
% vt & fawg # g Hr g |

FH I 1 =T, A9 23 T e i wEEd °

$ifsd |

He:

(a) Had 1

(b) Had 2

(c) 1 T 2 gl

(d)Fdar 1782

f= o & fopm w1 g Fifas -19 % gv=mq

3r 3 Afgerss srforaean % 39 Rq ‘@ 3¢ Gl
I ! I fomar o 7

(a) fava anféfs 9=

(b) fova &

(c) 31.3.51.€.

(d) 3HeTe (. 0. €A 0 E)

T frerferRad & & fege fegw 2 2

(a) AT Helt

(b) HETS et

(c) & heft

(d) FEafa shedt

¥t grrehifa <rendt 3 it aeqall & e §
afterd 1 wehfa et @ | s gEmdife @
HIo R SR W foRar ST & 7

(a) ¥ ¥ HEHIH
(b)aﬂzﬁﬁmmmﬂﬁwmw

(c) Hfesh SYHIHT Hedl Ferehieh )

(d) W&l SusiteT T gew :
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i P
SN ne is | 148. ﬁa‘l%mﬁqmﬁ, f:-rr:m:g@m 1R @A)
148. Given below are two statementsﬂo s e i e
labelled as Assertion (A) and othe £ o (AE;I.U%HI R i
Reason (R) : ' 37T ; . ST g % o
Assertion (A) : The President of Incﬁa aﬁwaﬁaﬂﬁ%ﬁm W;ﬁmm% | :
determines the qualifications of the (R) : A 3 & i e
Chairman and Members of the Finance LU A FeHi ER\ES
Commission. rrgtﬁf’f i O
Reason (R) : Chairman and members are ) faa Tu Fe Y A
~_-appointed by the President of India. AR |
Select the correct answer using the codes =
givzn below. S ) ?W% 0 (B
Codes : .
Both (A) and (R) are true and (R) 1s AT =hidl , . -
(a) Corre((:t }CXPIanation of (A) . (b) (A) 3_ﬁ'( (R) éj:ﬁ 'ga;[%%, %ﬁ (R), (A)
(b) Both (A) and (R) are true, but (R) 1s Tt =TT el
not correct explanation of (A) ©) (A) T 3 R) 3
(c) (A) is true, but (R) is false s IE’“:EI = 'wlali 2
(d) (A) T &, f5g (R)

Jd){4) is false, but (R) is true

149. Match List - I with List — II and select | 149. gl —I 1 gt — I § AT Hifore T gt

the correct answer using the codes given ¥ 9 fou U we ¥ & I F1 =TI Hifou |
below the lists.
eList—I List - IT et - 1 Tt — 11
(Scheme) (Year of Launch) (=) (ST =)
Sroniady o AU A. 3T et e s 1. 2021
ima Yojna
B. P.M. Aatmanirbhar 2. 2016 B. fl.0. arenfit T 2. 2016
Swasthya Bharat Yojna Od 1
C. Pradhan ManYtri 3. 2007 C. YU 99 AR 3. 2007
Jan Aarogya Yojna 5
D. Pradhan Mantri 4. 2018 D. ST G et AT 4. 2018
Suraksha Bima Yojna 3
L T4
Codes :
A B C D
A B C D
@ 1 2 3 4 (a)EBliE O IR A i
fg/ A () Ao
e ol 9 () Al o
R &t @i
150, Who among the followin i : -
a Session of Indian Natignlgvgggé?:ge'g 3¢ W %;ﬁa_ﬁﬂ & f ol W e Ugcm Hg
(a) Lala Lajpat Rai Hferawm 1 reasrar 78 4y 7
~(by'Bal Gangadhar Tilak (E) AT 1919 T
(c) Gopal Krishna Gokhale " (b) =Tt MR et
(d) Subhash Chandra Bose/ () YT FW TR
(d) 9T 9 W
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